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Unit 2
The assessment objectives will be allocated in the following way.
% of
A2 Marks
A02 Response to written language 45 45
A03 Knowledge of grammar 25 25
A04 Knowledge of society 30 30
TOTAL 100 100
The marks will be allocated in the following way.
A02 A03 A04
Section la 10
Section 1b 5 5
Section 2 30 20 30
Section 1
Question Accept Marks Reject
a) Ql 2
Q2 2
Q3 2
Q4 2
Q5 2
Total 10

Answers should indicate that:
(a) candidates are able to identify the relevant information in the passage

(b) candidates are able to convey this information in their own words.
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The answer to Question 1 should be:

PRO/DOUNNNY N 901 N3 DN DM DX IYaAnnn 20/NMPNIY MW P NS
OIPYI NMYPIRNLOMYI IMYEIN 5551 PR DN, TNX P11 DN O .AOND NON DOVWHBND

OV

The answer to question 2 should be:
2931 NANDYTY 0N TND NI/ DM IPINIOPYOPN N9 ¥ DOPYNIY 2N M MDY
NP NPV JY DANN/IWND D91 PNY? NPINN DWIY BN 1907 I3 O T
DNV O”NN YW NPIam

The answer to question 3 should be:

ONPYW OMIINN DPN.YNN 222 DY NOYTI NYOUN VMY NIPA/IN 1 DY W omnn 911

DMy OOwaun

The answer to question 4 should be:

NN D2 DN, NNINNN 273 IR 0¥ NN 233 930 DI WD %2 0N 0NN D)
“PIY DONN DY STIYY N7 “PIN M’ TINY YN DNRSY NN DORIWY OMIY DY D) 13w

(M NN DY MR DI N “IPYIOY MVYY ¥ ON N9

The answer to question 5 should be:
NP0MI PYPND .0NDY DYTN DY 00w PIVNND DNNNT DN IR/ N80 T MO

PPN 0N MO, NADVI MYY DI DTN N2 PINY MO ,Mn TnS Mo ,onow

DYPYY P ONYD 02T

(b) Passage for translation.

Total = 10 marks
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When Knowledge of Grammar (AO3) is assessed in Section 1, the following criteria will be
used.

Knowledge of Grammar (A03)

0-1 Errors are elementary and so numerous as to impede
comprehension.
2 Evidence of gaps in basic grammar. Common structures are not

sound and some irregular verbs are suspect.

3 The grammatical structures are known but success in applying them
is inconsistent, especially in less common structures.

4 . .
Grammar is sound. Tenses and agreements are reliable and errors
occur only in the most difficult areas.

5

The grammatical structures in the specification are used accurately.
There are a few errors and these are of a minor nature.
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(b) Passage for translation. Total marks 10

For section 1b the following criteria will be used for response to written language (A02)

Response to Written Language (A02)

0-1 Passage inaccurately translated; overall meaning not conveyed
successfully; the sentences are mainly a ‘word for word’ translation,
poor spelling.

2-3 Many contain a number of errors, 3-4 substantial ones, but central

meaning is conveyed. The sentences reveal some fluency and some
awareness of appropriate style.

4-5 May contain a few errors in style, but central meaning is
substantially conveyed; good to excellent command of the main
areas of awareness of appropriate style.

For section 1b the following criteria will be used for knowledge of grammar (A03)

Knowledge of Grammar (A03)

0-1 Errors are elementary and so numerous as to impede
comprehension.

Evidence of gaps in basic grammar. Common structures are not
sound and some irregular verbs are suspect.

3 The grammatical structures are known but success in applying them
is inconsistent, especially in less common structures.

4 : .
Grammar is sound. Tenses and agreements are reliable and errors
occur only in the most difficult areas.

5

The grammatical structures in the specification are used accurately.
There are a few errors and these are of a minor nature.
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Section 2
Each answer = 40 marks

Total = 80 marks

Knowledge of Society (A04)

0-1 The answer shows no relevance to the topics/texts/question.
A zero score will automatically result in a zero score for the
answer as a whole.

2-4
Demonstrates only limited knowledge and understanding of
the topics/texts. Limited range of sources and evidence.

5-7 Superficial examples.

Demonstrates some knowledge and understanding of the
topics/texts. Source material and evidence is not always well
8-11 used.

Demonstrates sound overall knowledge and understanding of
the topics/texts. A good range of sources and guidance is used
12-15 and the answer is generally relevant to the topics/question.

Demonstrates a thorough knowledge and understanding of the
topics/texts with a wide range of sources and evidence used.
The answer is relevant and is wide-ranging in its treatment of
the topics/texts/question.

Reaction / Response (A02)

0-1 Little or no reaction. No real illustration or justification.

2-4 Little relevant reaction / opinion / evaluation, generally factual
or descriptive, lacks structure and order.

5-7 Some evaluation evident, but relies on received ideas with
little personal opinion. Some attempts at structure. Ideas
generally not well supported.

8-11
Some attempt at evaluation and some personal reaction, not
always convincingly justified. Clear structure and logical
12-15 progression.

A good range of points evaluated with conclusions. Clear
evidence of personal reaction, well illustrated / justified. Well
balanced and coherent.
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Knowledge of Grammar (A03)

0-2 Errors are elementary and so numerous as to impede
comprehension.

3-4
Evidence of gaps in basic grammar. Common structures are
not sound and some irregular verbs are suspect.

5-6
The grammatical structures are known but success in applying
them is inconsistent, especially in less common structures.

7-8
Grammar is sound. Tenses and agreements are reliable and
errors occur only in the most difficult areas.

9-10

The grammatical structures in the specification are used
accurately. There are a few errors and these are of a minor
nature.




